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Note : There are two Sections, namely section - A and 
section-B in this paper. All questions in section - A 
are compulsory. Answer any three questions From 
section - B. 

SECTION - A 

1. 	There are 10 objective types questions in this 
question. Select the best choice as your answer. 
Each objective question carries 2 marks. 	10x2=20 

(a) Which of the following register keeps track 
of instruction to be executed ? 

(i) IR 
	

(ii) PC 

(iii) MAR 
	

(iv) MBR 

(b) Which of the following is NOT an input 
device ? 

(i) Keyboard 	(ii) Mouse 

(iii) Scanner 	(iv) Plotter 

O 

CIC-02 	 1 	 P.T.O. 



(c) Cache coherence problem occurs in : 

(i) Uni processor system 

(ii) Array processor 

(iii) Multi-processor system 

(iv) All of the above. 

(d) Which of the following is a logical operator ? 

(i) 	 (ii) 

(iii) NOT 	(iv) Assignment 

(e) Which of the following is a Fourth 
generation language ? 

(i) 	C 
	

(ii) C + + 

(iii) Java 	(iv) Query Language 

(f) In 	 mode, the communication 
channel is used in one direction only. 

(i) simplex 	(ii) Half-duplex 

(iii) Full-duplex 	(iv) directional 

(g) Which of the following is not a device used 
in a WAN ? 

(i) Channel 	(ii) Bridge 

(iii) Router 	(iv) Gateway 

(h) Which of the following protocol is used for 
transfer of a file ? 

(i) USENET 	(ii) FTP 

TELNET 	(iv) SMTP 
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(i) 	DES is used for/as : 

(i) an anti-virus software 

(ii) an algorithm for cryptography 
Ln 
cv 	(iii) a tool for cryptanalysis 

O 
Isr) (iv) None of the above 

(j) 	A computer virus can infect : 

(i) Human 

(ii) Computer files 

(iii) Computer monitor 
(iv) All of the above 

	

2. 	(a) Give two differences between the following : 	4 
(i) Volatile versus non-volatile memory. 

(ii) Static versus dynamic memory. 

(b) Give the need/use of each one of the 	6 
following in the context of Graphical user 
Interface : 

(i) Icons 	(ii) Menus (iii) Fonts 
(iv) Window (v) Dialog box 
(vi) Tool bar 

	

3. 	(a) What is a multiplexer ? Explain the use of 	5 
multiplexer with the help of a diagram. 

(b) List four reasons for why a computer system 	5 
may be infected by virus. How can you cure 
an infected system ? 
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SECTION - B 

4. (a) What is a family of computer ? What are 
its characteristics ? 

(b) List the names and uses of any six input-
output devices. 

(c) Explain the concept of pipelining with the 
help of a diagram. 

5. 	(a) Explain the general features, advantages 
and disadvantages of the following types of 
operating systems. 

(i) Batch Operating System. 

(ii) Network Operating System. 

(b) What is an array ? Explain the uses of 
arrays with the help of an example. 

(c) Define the following terms in the context of 
computer software : 

(i) Structured methodologies. 

(ii) CASE tools 

(iii) Fourth generation languages. 

6. (a) What is LAN ? How is it different to WAN ? 	8 
Explain one LAN topology and one LAN 
access method. 
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(b) Define the following in the context of 12 
computer network. Give at least one use of 

each. 

(i) 	Server 	(ii) Packet switching 

(iii) EDI 	(iv) Digital transmission 

7. 	Explain the following in the context of computer 20 
security giving example/diagram, if needed. 

(a) DES 

(b) Security threats 

(c) Cryptanalysis 

(d) Types of viruses 

(e) Software based security. 
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